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PART - III

Ðèþ–„æü Ô>çÜˆÐèþ$$ / BOTANY

(™ðþË$Væü$ Ðèþ$ÇÄæý$$ C…XÏ‹Ù ¿êÚë…™èþÆæÿÐèþ$$Ë$ / Telugu & English Versions)

çÜÐèþ$Äæý$Ðèþ$$ : 3 Væü…rË$ ] [ VæüÇçÙx Ðèþ*Ææÿ$PË$ : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150

çÜ* è̂þ è̄þ : (1) Ðèþ$${§æþ×ý çÜÐèþÅ™èþMðüO {ç³Ôèý²ç³{™é°² „æü$×ý~…V> ç³ÇÖÍ… è̂þ…yìþ. çÜÐèþÅ™èþ ÌZí³…_ è̄þ ç³„æüÐèþ$$ÌZ
B ÑçÙÄæý*°² Ððþ…r¯óþ àÌŒý çÜ*ç³ÆŠÿÐðþOfÆæÿ$Mæü$ ™ðþÍÄæý$gôýÄæý$…yìþ.

(2) Æ>Äæý$yé°Mìü Ðèþ$ÇÄæý$$ A…yæþÆŠÿÌñýO¯Œþ ^óþÄæý$yé°Mìü ±Ë… Ìôý§é ¯èþË$ç³# Ææÿ…Væü$ íÜÆ>
Ðèþ*{™èþÐóþ$ Eç³Äñý*W…^èþ…yìþ. _{™èþç³sêËMæü$ ò³°ÞÌŒý Eç³Äñý*W…^èþ…yìþ.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

ÇhçÜtÆŠÿ çÜ…QÅ
Register Number

$uÛ≤>∑+ - A / SECTION - A

>∑eTìø £ : (i) nìï Á|üX̄ï\≈£î düe÷<Ûëq+ Çe«+&ç. 30x1=30

(ii) Ç∫Ãq Hê\T>∑T Á|ü‘ê´e÷ïj·÷\ qT+∫ dü¬s’q <ëìï m+#·Tø√+&ç eT]j·TT Ä|ü̧Hé ø√&éqT
eT]j·TT dü+ã+~Û‘· düe÷<ÛëHêìï sêj·T+&ç.

Note : (i) Answer all the questions.

(ii) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.
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1. ùd«#êÃ¤j·TT‘· Äø£s¡̧D|üÁ‘ê\‘√ ≈£L&çq |ü⁄cÕŒ\qT ø£*–q yÓTTø£ÿ\qT Ç+<äT˝À #̊sêÃs¡T :

(a) yÓ÷H√ø±¢$T&çjÓT (b) yÓ÷H√ø=f…Æ˝…&ÜHé‡

(c) >±yÓTTô|{≤ …̋ (d) bÕ*ô|{≤ …̋
Plants having flowers with free petals are placed under :

(a) Monochlamydea (b) Monocotyledons

(c) Gamopetalae (d) polypetalae

2. yÓs√ïìj·÷ ns√“]j·÷ nH̊~ :

(a) zwü~Û (b) bı<ä

(c) #Ó≥T¢ (d) ‹s¡T>∑T&ÉT r>∑
Vernonia arborea is a :

(a) herb (b) shrub

(c) tree (d) twiner

3. V”≤$j·÷ Áu≤dæ*jÓTì‡dt̋ À Ä≈£î\T Ç˝≤ ñ+{≤sTT :

(a) kÕe÷q´+>± (b) Á‹<äfi¯j·TT‘· dü+j·TTø£Ô+

(c) eè+‘·s¡Væ≤‘·+ (d) Vü≤kÕÔø±s¡+>± ‘·yÓTà\T ø£*–q$
In Hevea brasiliensis, the leaves are :

(a) Simple (b) Trifoliately compound

(c) Sessile (d) Palmately lobed

4. eT÷kÕ˝À |üÁ‘·$Hê´dü+ :

(a) @ø±+‘·s¡+ (b) n_ÛeTTK+

(c) ~«|ü+øÏÔø£ (d) dü]Œ˝≤ø±s¡+
The phyllotaxy in Musa is :

(a) Alternate (b) Opposite

(c) Distichous (d) Spiral

5. u§sêdüTdt bòÕ¢u…*¢ô|òsY nH~̊ Bì ~«|ü<ä :

(a) ø=ã“] #Ó≥Tº (b) yÓ’Hé bÕyéT

(c) sêj·T˝Ÿ bÕyéT (d) bÕyÓTÆsê bÕyéT
Borassus flabellifer is the binomial of :

(a) coconut tree (b) wine palm

(c) royal palm (d) palmyra palm
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6. Ä¬sºyÓTdæj·÷ e÷]f…Æe÷ qT+∫ bı+<̊ Wwü<Ûä+ :
(a) ô|’¬sÁ‘·T+ (b) kÕ+{ÀìHé

(c) nÁ{Àô|’Hé (d) øÏ«HÓ’Hé
A drug obtained from Artemesia maritima is :

(a) pyrethrum (b) santonin

(c) atropine (d) quinine

7. yÓ÷H√ø=f…Æ̋ …&ÓHé‡˝À Ä<ÛäTìø£ ≈£î≥T+ã+ :

(a) ÄôdºsêdæjÓT (b) e÷˝≤«dæjÓT
(c) s¡T_j·÷dæjÓT (d) Ä]ÿ&ÜdæjÓT
An advanced family in Monocotyledons is :

(a) Asteraceae (b) Malvaceae

(c) Rubiaceae (d) Orchidaceae

8. ndæú <äè&ÛÉø£D≤\T Bì˝À ñ+{≤sTT :
(a) Áø={≤˝≤]j·÷ d”&é ø√{Ÿ (b) ô|’düyéT d”&é ø√{Ÿ
(c) ô|’s¡dt >∑TE® (d) ns¡{Ï |üÁ‘· eè+‘·eTT
The osteosclereids are seen in :

(a) seed coat of crotalaria (b) seed coat of pisum

(c) pulp of pyrus (d) petioles of banana

9. Bì jÓTTø£ÿ n+‘·X̄Ãs¡à+˝À e÷s¡Zø£D≤\T+{≤sTT :
(a) ~«<äfī ø±+&É+ (b) ~«<äfi¯ y˚s¡T

(c) @ø£<äfī ø±+&É+ (d) ~«<äfi¯ Ä≈£î
Passage cells are found in endodermis of :

(a) dicot stem (b) dicot root

(c) monocot stem (d) dicot leaf

10. yêdüTÿ´\sY ø±+_j·TyéT nH̊~ ˇø£ :

(a) $uÛ≤»´ ø£DC≤\ nÁ>∑+ (b) $uÛ≤»´ ø£DC≤\ eT<Ûä́ düú+
(c) $uÛ≤»´ ø£DC≤\ bÕs¡Ù«+ (d) Á|ü<∏äeT $uÛ≤»´ ø£DC≤\+
Vascular Cambium is a :

(a) apical meristem (b) intercalary meristem

(c) lateral meristem (d) promeristem
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11. ˇø£ #Ó≥Tº ej·TdüT‡qT <ëì yê]¸ø£ e\j·÷\qT ã{Ïº ø£qT>=q&Üìï @eTì n+{≤s¡T ?
(a) &Ó+Á&√Áø√Hê\J (b) bÕ*H√\J
(c) m+≥yÓ÷\J (d) mø√\J
The determination of the age of a tree by counting the annual rings is called :
(a) dendrocronology (b) palynology
(c) entemology (d) ecology

12. $eè‘· ;C≤˝À¢, ˙{Ïì rdüT¬øfi‚fl Á|ü<Ûëq uÛ≤>±\T  :
(a) <ës¡Tø£D≤\T (b) <ës¡THêfi≤\T
(c) C…’˝…yéT ô|ò’ãsY‡ (d) d”yé ≥÷´uŸ‡
In Gymnosperms, the chief water conducting elements are :
(a) tracheids (b) vessels
(c) xylem fibres (d) sieve tubes

13. VüQ´>√ &ç ÁyÓ’dt Bìô|’ ‘·q |ü]o\q\ Ä<Ûës¡+>± yÓTT<ä{ÏkÕ]>± eTT´fÒwüHé nH̊ |ü<ä+ ñ|üjÓ÷–+#ês¡T :
(a) C§qï (b) q÷´s√kıŒsê
(c) ˇsTTH=‘Ósê ˝≤e÷]ÿj·÷Hê (d) dædüsY –>±dt
Hugo de Vries first used the term mutation based on his observation on :
(a) Sorghum (b) Neurospora
(c) Oenothera lamarckiana (d) Cicer gigas

14. q*¢k˛$T Bì#̊ dü÷∫+#·ã&ÉT‘·T+~ :
(a) 2n−1 (b) 2n+1 (c) 2n+2 (d) 2n−2
Nullisomy is represented by :
(a) 2n−1 (b) 2n+1 (c) 2n+2 (d) 2n−2

15. πøq‡sY ø£D≤˝À¢ @s¡Œ&̊ Áø√yÓ÷CÀyéT\qT Ç˝≤ n+{≤s¡T :
(a) bÕ*{ÏHé Áø√yÓ÷CÀyéT (b) ˝≤´+|t Áãwt Áø√yÓ÷CÀyéT
(c) B - Áø√yÓ÷CÀyéT‡ (d) &ÉãT˝Ÿ $TqTf…dt
Chromosomes occur in cancer cells are called as :
(a) Polytene chromosome (b) Lamp brush chromosome
(c) B - chromosomes (d) Double minutes

16. #Ós¡≈£î˝À Áø√yÓ÷CÀyéT\ Vü‰|t̋ ≤sTT&é ôd{Ÿ :
(a) 30 (b) 40 (c) 10 (d) 20
Haploid set of chromosome in sugarcane is :
(a) 30 (b) 40 (c) 10 (d) 20
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17. ø±\dt qT+∫ ẙs¡T eè~∆ #Ó+<ä&Üìï @eTì n+{≤s¡T ?

(a) ÄsêZH√C…ìdædt (b) ¬s’C§C…ìdædt

(c) øö˝ÀC…ìdædt (d) m+Áu≤jÓ÷C…ìdædt
The development of root from the callus is called :

(a) organogenesis (b) rhizogenesis

(c) caulogenesis (d) embryogenesis

18. e÷qyê[ $ìjÓ÷>±ì¬ø’ ã\es¡∆ø£yÓTÆq $≥$THé e÷Á‘·\qT øÏ+<ä ù|s=ÿqï @ Je⁄\ qT+∫ ‘·j·÷s¡T
#̊kÕÔs¡T ?

(a) H√kÕºø˘ (b) ádtº

(c) |ü⁄≥º>=&ÉT>∑T (d) dæŒs¡T*Hê
Enriched vitamin tablets are produced from the following organism for human
consumption.

(a) Nostoc (b) Yeast

(c) Mushroom (d) Spirulina

19. ~>∑Te C…ì{Ïø£©¢ Ç+õ˙sY¶ ñ‘êŒ<äq˝À¢ @~ yÓ’s¡dt\qT ìs√~Û+#·&É+˝À ø£D≤\≈£î ‘√&ÉŒ&ÉT‘·T+~ ?

(a) Ç+≥sY\÷øÏHé (b) Ç+≥sYô|òsêHé

(c) ÇqT‡*Hé (d) ¬sìHé ÇHéVæ≤_≥sY‡
Which one of the following genetically engineered products helps the cells to resist
viruses ?

(a) Interleukin (b) Interferon

(c) Insulin (d) Renin inhibitors

20. Á{≤Hé‡|òüπsdt≈£î ˇø£ ñ<ëVü≤s¡D :

(a) Á{≤Hê‡$TH˚dt (b) ô|’s¡T$ø̆ ø±s=“C Ò̋dt

(c) Væ≤dæº&Ó’Hé &çø±s=“C…’̋ Òdt (d) &çôV’≤Á&√õH˚dt
An example for transferase :

(a) transaminase (b) pyruvic carboxylase

(c) histidine decarboxylase (d) dehydrogenase
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21. Z - d”ÿyéT BìøÏ dü+ã+~Û+∫+~ :

(a) ôd’øÏ¢ø̆ m\Áø±ºHé Á{≤Hé‡b˛sYº (b) ˙{Ï jÓTTø£ÿ bòı{§*dædt

(c) HêHé̀ ôd’øÏ¢ø̆ m\Áø±ºHé Á{≤Hé‡b˛sYº (d)  CO
2 
‘·–Z+|ü⁄

Z - scheme refers to :

(a) Cyclic electron transport (b) photolysis of water

(c) Non-cyclic electron transport (d) reduction of CO
2

22. ~>∑Te yê{Ï̋ À @~ kÕ<Ûës¡D XÊ«dü ÁøÏj·÷<Ûës¡+ :

(a) Ábı{°qT¢ (b) *|æ&é‡

(c) ø±s=“ôV’≤Á&˚{Ÿ‡ (d) $≥$TqT¢
Which of the following is the common respiratory substrate :

(a) proteins (b) lipids

(c) carbohydrates (d) vitamins

23. |ü+&É¢ |üø£«+‘√ eTT&ç|ü&çq Vü‰s√àHé :

(a) ÄøÏ‡Hé (b) –u…“¬s*Hé

(c) Ç<∏Ó*Hé (d) nu…‡dædt j·÷dæ&é
The hormone that involves in ripening of fruits is :

(a) auxin (b) gibberellin

(c) ethylene (d) abscisic acid

24. ~>∑Te yê{Ï̋ À @~ B|æÔ ‘·≥düú yÓTTø£ÿ ?

(a) bı>±≈£î (b) bı<äT›‹s¡T>∑T&ÉT

(c) z{Ÿ‡ (d) >√<ÛäTeT
Which of the following is a day neutral plant ?

(a) Tobacco (b) Sunflower

(c) Oats (d) Wheat

25. yÓTÆ{Àø±+Á&çj·÷˝À, m\Áø±ºHé s¡yêD≤ uÛ≤>±\T á $<Ûä+>± neTs¡Ãã&ç ñ+{≤sTT :

(a) e÷Á{Ïø˘‡ (b) u≤Vü≤´ ‘·«#·+

(c) ÁøÏkÕº (d) n+‘·sY ‘·«#·+
In mitochondria, the electron transport components are arranged in :

(a) matrix (b) outer membrane

(c) cristae (d) inner membrane
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26. Bìï ø£D+ jÓTTø£ÿ X̄øÏÔ Á<äe´+>± n_Ûe]íkÕÔs¡T :
(a) ATP (b) NADP (c) FAD (d) NADH

2

It is described as energy currency of the cell :

(a) ATP (b) NADP (c) FAD (d) NADH
2

27. bÕøÏåø£ |üsêïJ$øÏ ñ<ëVü≤s¡D :

(a) yê+&Ü (b) ø±dt≈£î´{≤ (c) Á&√ôdsê (d) $düÿyéT
An example for partial parasite is :

(a) Vanda (b) Cuscuta (c) Drosera (d) Viscum

28. ô|’]≈£î´ Ò̋]j·÷ ˇ]C… düVü≤ n‹<∏s̊TT yÓTTø£ÿ @~ ?

(a) ˇ]C≤ kÕ{Ïyê (b) &çõ{≤]j·÷ e÷]Zq{≤

(c) nsê∫dt ôV’≤b˛–j·÷ (d) ìeTàC≤‹ yÓTTø£ÿ
What is the collateral host plant of pyricularia oryzae ?

(a) Oryza sativa (b) Digitaria marginata

(c) Arachis hypogea (d) Citrus plant

29. ãVüQdæúrø£‘·«eTT Bì#̊ Áù|]‘·eTe⁄‘·T+~ :

(a) bÕ*<∏Ó’©Hé ¬>’¢ø=˝Ÿ (b) ô|øÏºHd̊t

(c) ôd\T´˝Òdt (d) ø√*ÃdæHé
Polyploidy can be induced by :

(a) polyethylene glycol (b) pectinase

(c) cellulase (d) colchicine

30. uÛ≤s¡‘·<˚X̄+˝À ù|f…+{Ÿ ø±\e´e~Û :

(a) 3  @fīófl (b) 4  @fīófl (c) 5  @fīófl (d) 6  @fīófl
Duration of patent in India is :

(a) 3 years (b) 4 years (c) 5 years (d) 6 years
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$uÛ≤>∑+ - B / SECTION - B

>∑eTìø£ : @yì̊ |ü~ùV≤qT Á|üX̄ï\≈£î düe÷<Ûëq+ Çe«+&ç. 15x3=45

Note : Answer any fifteen questions.

31. bÕ|æ*jÓTTHêdæj·Tdt ø=s¡̋ ≤¢ n+fÒ @$T{Ï ?
What is papilionaceous corolla ?

32. e÷˝≤«dæjÓT kÕúq+ >∑T]+∫ sêj·T+&ç.
Write the systematic position of malvaceae.

33. |üsê>∑ø√X̄dü+j·TTø£Ô πødüs¡+ n+fÒ @$T{Ï ?
What is syngenesious stamen ?

34. nÁ{Àô|’Hé n+fÒ @$T{Ï ?
What is Atropine ?

35. ÇdüTº̋ Ò n+fÒ @$T{Ï ?
What is an Eustele ?

36. »qT´ |ü≥+ n+fÒ @$T{Ï ?
What is a genetic map ?

37. nqT Ò̋Kq+ n+fÒ  @$T{Ï ?
What is Transcription ?

38. Áø√yÓ÷k˛yéT dü+U≤´dæú‹ jÓTTø£ÿ @ẙì eT÷&ÉT ÁbÕ<Ûëq´‘·\qT sêj·T+&ç.
Write any three significances of ploidy.

39. bÕ¢+{Ÿ {ÏwüO´ ø£\ÃsY jÓTTø£ÿ eT÷&ÉT e÷<Ûä́ e÷\qT ‘Ó*j·TCÒj·T+&ç.
Mention three media of plant tissue culture.

40. ãjÓ÷ ¬̀s$T&çjT̊wüHé n+fÒ @$T{Ï ?
What is meant by Bio-remediation ?
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41. ø±+‹ #·s¡́ qT ìs¡«∫+#·+&ç.
Define light reaction.

42. Vü‰k º̨]j·÷ nì ẙ{Ïì n+{≤s¡T ?
What are called haustoria ?

43. õj·÷{ÏHé n+fÒ @$T{Ï ?
What is Zeatin ?

44. m˝≤+{Ï |ü]dæú‘·T˝À¢ ôd’øÏ¢ø̆ bǫ̀ {Àbǫ̀ k˛Œ¤] Ò̋wüHé #√≥T #̊düT≈£î+≥T+<√ ‘Ó*j·TCÒj·T+&ç.
State the conditions underwhich cyclic photophosphorylation occurs.

45. nb˛m+C…’yéT n+fÒ @$T{Ï ?
What is Apoenzyme ?

46. nyêj·TT XÊ«düÁøÏj·T n+fÒ @$T{Ï ?
What is anaerobic respiration ?

47. ô|+{Àdt bòÕùdŒ¤{Ÿ bÕ‘Yẙ jÓTTø£ÿ eT÷&ÉT ÁbÕ<ÛëHê´\qT $e]+#·+&ç.
Mention three significances of pentose phosphate pathway.

48. C
3 
eT]j·TT C

4
 |ü<∏ë\ eT<Ûä́  @ẙì eT÷&ÉT ‘&̊Ü\qT sêj·T+&ç.

Write any three differences between C
3 
and C

4
 pathway.

49. kı˝≤qyéT ì>¥s¡yéT jÓTTø£ÿ @ẙì eT÷&ÉT Wwü<Ûä ñ|üjÓ÷>±\qT sêj·T+&ç.
Write any three medicinal uses of Solanum nigrum.

50. ãjÓ÷ô|ò]º̋ …’»sY n+fÒ @$T{Ï eT]j·TT ˇø£ ñ<ëVü≤s¡D Çe«+&ç.
What is Biofertilizer and give an example.
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7x5=35

$uÛ≤>∑+ - C / SECTION - C

>∑eTìø£ : (i) ‘·|üŒìdü] nsTTq 56 e Á|üX̄ï‘√ bÕ≥T>± @ẙì @&ÉT Á|üX̄ï\≈£î düe÷<Ûëq+ sêj·T+&ç.
(ii) nedüs¡yÓTÆq #√≥ u§eTà\T ^j·T+&ç.

Note : (i) Answer any seven questions including question no. 56 which is compulsory.

(ii) Draw diagrams wherever necessary.

51. ôV≤πs“]j·T+ jÓTTø£ÿ ÁbÕ<ÛëHê´ìï ‘Ó*j·TCÒj·T+&ç.
Bring out the significance of Herbarium.

52. eT÷kÕ eT]j·TT sêyÓHê˝≤\ eT<Ûä́  ‘&̊Ü\qT sêj·T+&ç.
Write the differences between Musa and Ravenala.

53. eTè<äTø£DC≤\+ jÓTTø£ÿ $$<Ûä s¡ø±\qT $e]+#·+&ç.
Explain different types of parenchyma.

54. yêj·TTs¡+Á<Ûë\ >∑T]+∫ ≈£î¢|üÔ $es¡D Çe«+&ç.
Write short notes on lenticels.

55. @ø£<äfī ẙs¡T n&ÉT¶ø√‘· |ü≥+ ̂ j·T+&ç eT]j·TT uÛ≤>±\T >∑T]Ô+#·+&ç   (ˇø£ ôdø±ºsYqT mHé̋ ≤sY® #̊j·T&É+
Ò̋<ë Á>ö+&é bÕ¢Hé)

Draw and label the parts of transverse section of a monocot root (a sector enlarged or
Ground plan)

56. tRNA ìsêàD+ô|’ ≈£î¢|üÔ $es¡D Çe«+&ç.
Write short notes on the structure of tRNA.

57. &çmHém eT]j·TT ÄsYmHém\ eT<Ûä́  ‘&̊Ü\qT sêj·T+&ç.
Write the differences between DNA and RNA.

58. »qT´ |ü]es¡Ôq jÓTTø£ÿ Ä#·s¡D≤‘·àø£ $ìjÓ÷>±\ô|’ ≈£î¢|üÔ $es¡D Çe«+&ç.
Write short notes on the practical application of genetic transformation.
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59. |ü⁄qdü‡+jÓ÷»ø£ &çmHém |ü]C≤„q+ jÓTTø£ÿ n‘·́ +‘· eTTK´yÓTÆq ◊<äT |òüT≥q\qT sêj·T+&ç.
Write the five most important events of recombinant DNA technology.

60. ≈£îôV≤ï ô|ò¬sà+fÒwüHé ≥÷´uŸ Á|üjÓ÷>∑+ >∑T]+∫ $e]+#·+&ç.
Explain Kuhne’s fermentation tube experiment.

61. ÄøÏ‡Hé jÓTTø£ÿ @ẙì ◊<äT |òæõjÓ÷˝≤õø£̋ Ÿ Á|üuÛ≤yê\ >∑T]+∫ sêj·T+&ç.
Write any five physiological effects of Auxin.

62. bÕ¢+{Ÿ Ç+Á≥&Éø£åHéô|’ ≈£î¢|üÔ $es¡D sêj·T+&ç.
Write short notes on plant introduction.

$uÛ≤>∑+ - D / SECTION - D

>∑eTìø£ : (i) @ẙì Hê\T>∑T Á|üX̄ï\≈£î düe÷<Ûëq+ sêj·T+&ç. 4x10=40

(ii) nedüs¡yÓTÆq #√≥ u§eTà\T ^j·T+&ç.
Note : (i) Answer any four questions.

(ii) Draw diagrams wherever necessary.

63. (a) u…+<∏ÓyéT eT]j·TT VüAø£sY‡ yÓTTø£ÿ\ eØZø£s¡D >∑TD≤\qT ‘Ó*j·TCÒj·T+&ç.
(b) s¡T_j·÷dæjÓT Ä]úø£ ÁbÕ<Ûëq´+ >∑T]+∫ sêj·T+&ç.
(a) Bring out the merits of Bentham and Hooker’s classification of plants.

(b) Give an account on economic importance of Rubiaceae.

64. eèø£åXÊÁdüÔ |ü]uÛ≤wü̋ À eTTkÕ |üsê&çdæj·÷ø±qT $e]+#·+&ç. (&Éj·÷Á>±yéT nedüs¡+ Ò̋<äT)
Describe Musa paradisiaca in botanical terms. (Diagrams not necessary)

65. ~«<äfī ø±+&É+ eT]j·TT @ø£<äfī ø±+&É+\ eT<Ûä́  n+‘·sYìsêàD|üs¡yÓTÆq ‘&̊Ü\qT sêj·T+&ç.
Write anatomical differences between dicot stem and monocot stem.
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66. Áø√yÓ÷k˛yéT jÓTTø£ÿ ìsêàD≤ìï $e]+#·+&ç.
Explain the structure of chromosome.

67. bÕ¢+{Ÿ {ÏwüO´ ø£\ÃsY jÓTTø£ÿ $ìjÓ÷>∑ |òü*‘ê Ò̋$ ?
What are the outcomes of application of plant tissue culture ?

68. øÏs¡D»q´ dü+jÓ÷>∑ ÁøÏj·TqT Á|üuÛ≤$‘·+ #̊ùd n+XÊ\ >∑T]+∫ sêj·T+&ç.
Write an account on the factors affecting photosynthesis.

69. C
2 
e\j·T+ (bǫ̀ {À¬sdæŒπswüHé) qT e]í+#·+&ç. (bǫ̀ ¢ #ÛêsYº Ò̋<ë $es¡D)

Describe C
2 
cycle (photorespiration) (flow chart or Explanation)

70. e] eT]j·TT ẙs¡TX̄q>∑ Ä]úø£ ÁbÕeTTK´‘· >∑T]+∫ sêj·T+&ç.
Write the economic importance of Rice and ground nut.

- o O o -


